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S1. Ans.(b)
Sol.
[image: ]

S2. Ans.(c)
Sol.
[image: ]

S3. Ans.(d)
Sol.
[image: adda247][image: ]

S4. Ans.(e)
Sol.
[image: ]

S5. Ans.(b)
Sol.
[image: ]

S6. Ans.(e)
Sol.
I. S>V (false) 
II. S=V (false)

S7. Ans.(e)
Sol.
I. M>E (false) 
II. A≥K (false)

S8. Ans.(a)
Sol.
I. B<E (true) 
II. A>M (false)

S9. Ans.(d)
Sol.
I. H<E (true) 
II. O<K (true)

S10. Ans.(a)
Sol. Given word- SNITCHED
Sol. After applied given condition- TOHUDIDE

S11. Ans.(a)
Sol.
[image: ]

S12. Ans.(c)
Sol.
[image: ]

S13. Ans.(b)
Sol.
[image: ]

S14. Ans.(e)
Sol. Except JP all the first letters are reversed to second letter.

S15. Ans.(d)
Sol.
[image: ]

S16. Ans.(c)
Sol.
[image: ]

S17. Ans.(b)
Sol.
[image: ]

S18. Ans.(b)
Sol.
[image: ]

S19. Ans.(d)
Sol.
[image: ]

S20. Ans.(b)
Sol.
[image: ]

S21. Ans.(c)
Sol.
[image: ]

[image: adda247]S22. Ans.(a)
Sol.
[image: ]

S23. Ans.(d)
Sol.
[image: ]

S24. Ans.(e)
Sol.
[image: ]

S25. Ans.(c)
Sol. ‘HONK’

S26. Ans.(a)
Sol.
[image: ]

S27. Ans.(c)
Sol.
[image: ]

S28. Ans.(b)
Sol.
[image: ]

S29. Ans.(d)
Sol.
[image: ]

S30. Ans.(a)
Sol.
[image: ]

S31. Ans.(a)
Sol.
[image: ]

S32. Ans.(e)
Sol.
[image: ]

S33. Ans.(c)
Sol.
[image: ]

S34. Ans.(a)
Sol.
[image: ]

S35. Ans.(d)
Sol.
[image: ]

S36. Ans.(d)
Sol.
[image: ]

S37. Ans.(c)
Sol.
[image: ]

S38. Ans.(e)
Sol.
[image: ]

S39. Ans.(d)
Sol.
[image: ]

S40. Ans.(e)
Sol.
[image: ]

S41. Ans.(c)
Sol.
[image: ]

S42. Ans.(e)
Sol.
[image: ]

S43. Ans.(a)
Sol.
[image: ]

S44. Ans.(b)
Sol.
[image: ]

[image: adda247]S45. Ans.(d)
Sol.
[image: ]

S46. Ans.(c)
Sol.
[image: ]

S47. Ans.(b)
Sol.
[image: ]

S48. Ans.(a)
Sol.
[image: ]

S49. Ans.(d)
Sol.
[image: ]

S50. Ans.(a)
Sol.
[image: ]

S51. Ans.(c)
Sol.
[image: ]

S52. Ans.(a)
Sol.
[image: ]

S53. Ans.(b)
Sol.
[image: ]

S54. Ans.(a)
Sol.
[image: ]

S55. Ans.(d)
Sol.
[image: ]

S56. Ans.(b)
Sol.
[image: ]

S57. Ans.(b)
Sol.
[image: ]

S58. Ans.(a)
Sol.
[image: ]

S59. Ans.(d)
Sol.
[image: ]

S60. Ans.(d)
Sol.
[image: ]

S61. Ans.(d)
Sol.
[image: ]

S62. Ans.(e)
Sol.
[image: ]

S63. Ans.(a)
Sol.
[image: ]

S64. Ans.(c)
Sol.
[image: ]

S65. Ans.(d)
Sol.
[image: ]

S66. Ans.(d)
Sol.
[image: ]

S67. Ans.(a)
Sol.
[image: ]

S68. Ans.(a)
Sol.
[image: ]

[image: adda247]S69. Ans.(b)
Sol.
[image: ]

S70. Ans.(b)
Sol.
[image: ]
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S71. Ans.(e)
Sol.
[image: ]
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S72. Ans.(a)
Sol.
[image: ]
[image: ]

S73. Ans.(e)
Sol.
[image: ]
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S74. Ans.(c)
Sol.
[image: ]
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S75. Ans.(e)
Sol.
[image: ]

S76. Ans.(d)
Sol.
[image: ]

S77. Ans.(b)
Sol.
[image: ]

S78. Ans.(d)
Sol.
[image: ]

S79. Ans.(c) 
Sol.
[image: ]

[image: adda247]S80. Ans.(c)
Sol.
[image: ]
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Month | Dates | Persons
Janvary |11 P
16 M
February | 11 R
16 0
March 11 T
16 N
April 11 v
16 Q
May 11 U
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Days Persons Fruits
Monda C Apple
Tuesday E Papaya

Wednesday B Litchi
Thursday G Guava

Frida D Grapes
Saturday A Banana
Sunday F “Apricot
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Pattern of series —
1005 - (5 X 1) = 1000
1000 — (5 X 3) =985
985 — (5 X 5) =960
960 — (5 X 7) =925
925— (5 X 9) =880





image16.png
Pattern of series -
8x1+2=10
10x2+3=23
23Xx3+4=73
73X4+5=297
297 X 5+ 6= 1491
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Pattern of series —
4+22= 8
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Pattern of series -
500X 1 =500

500

250
250X 3 = 750

750 + 4 = 187.5

187.5 X 5 = 937.5
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Pattern of series -
44+42=46
46+4=50
50+8=58
58+16=
74432
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Pattern of series -

Addition and subtraction of
consecutive prime numbers
88+11=99

99-7=92
92+5=97
97-3=94

94+2=96
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‘Total number of pages typed by B & E together
on Monday = 48 + 42 =90

s0-50
Required percentage =

X 100

80%
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Average number of pages typed by A, C & D
2460444

90t - 59 (approx)

Total number pages typed by A & E together on

Tuesday = 64 + 60 =124

Required difference = 124 - 59 = 65

on Monday =
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Total pager typed by C on both given days = 60 + 50 = 110
Total number pages typed by A & E together

on Tuesday = 52 + 60 = 112

Required ratio =110:112=55:56




image25.png
Total pages typed by total pages typed by E
on Wednesday = 48 X % +6=72
Required sum = (42 + 60 + 72) =174
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Total pages typed by B, D & E together on
Tuesday = (54 + 52 + 60) = 166

Total pages typed by A & C together on
Monday =72 +60 =132

Required difference = 166 - 132 = 34
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Total students speak German from B = (160 + 120) - 160 = 120
Total females speak German from B 20-72=48

Total males speak German from B 20-48=72

Required difference =72 - 48 =24
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Total females speak French from C = 224 X % =84

Total students speak German from A = (120 + 80) - 112 = 88
Required difference =88 -84 =4
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Total males speak French from A=112 -32=80
Total males speak German from B = 160 - 120 X % =76
Required percentage = X 100 = 0.5%

)
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Total students speak German from all the three colleges together
120 +80 - 112) + (160 + 120 - 160) + (192 + 168 - 224)

8 + 120 + 136

344

Total males in A & B together = 120 + 160 = 280

Required ratio = 344 : 280

43:35
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Total females speak German from college M
(224- 168 X 3)—24: 128

Total students speak German from M
=128+128 x5 =288

So, total number of students speak French
from M =480 - 288 = 192
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Given, 277 = 88
r=14cm

ATQ-

Radius of cylinder = 14 X 2 X
Required volume = 22 X 21 X 21 X 12 = 16632 cm?®

=21em
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Profit ratio of Ato B = (42 X 12) : (40 X 6 + 35 X 6)
8: 25

Given, 25 = 3000

So, total profit = 22222

X 3000 = 6360 Rs.
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Age of A six years hence = 24 + 6 = 30 years
S0, age of B six years hence =30 x

36 years

5
Present age of B = 36 - 6 = 30 years

Required years = 39 - 30 = 9 years
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1
A+B=1

=1
A+BHC=g;
Sg=i L4t
302 10 1w
Pipe ‘C is an outlet pipe which can empty

the tank in 120 minutes.

L s3_2 1
2k 10 0w
Pipe ‘A’ alone can fill the tank completely in 60 minutes.
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Let the efficiency of A = 5x units/day
So, the efficiency of B = 5x X % 4x units/day

Total work =72 X 5x = 360x units

The efficiency of C = ’% = 6x units/day

Total work completed by all three alternatively
starting with A and followed by Band C respectively,
in three days = 5x + 4x + 6x = 15x

Required days :""T“: X 3 = 72days
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Let length of train - A be x meters.
ATQ,

= s
L=(2+18) x4

x =400
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Let cost price of table be Rs.100x.
So, selling price of table = 100x X % =Rs.133x

And, marked price of table = 133x X % Rs.140x

ATQ,
140x — 133x = 420
x=60Rs.

Cost price of table = Rs.100x = Rs.6,000
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Let amount invested by Deepak at C.I be ‘Rs.x".

So, amount invested by Deepak at S.I. = Rs (47000 - x)
Now,

Equivalent rate of interest of 15% C.I.for 2 years

=15+15+ 2522 -32.25%
ATQ,
xx 3225 _(7000-x)x2x12 _

100 - 100 =s325

32.25x + 24x = 1181250
x=21000 Rs.
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Let total mixture in vessel be Q liters.
Initial quantity of water in vessel = 0.25Q
And, quantity of milk in vessel = 0.75Q
ATQ-
0250440
075 &0
15Q + 2400 = 30Q
=2400

Quantity of milk in vessel = 160 X ‘TSD = 1201
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Possible cases = (1 red ball & 1 green ball)
or (1 red ball & 1 black ball)

Required probability = % + ;%C
sy T
- 95

%
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ATQ, 40 X 20 =30 x 2

y=240
75% of second number=180
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Let the rate of simple interest for the 3% year be x% per annum.
Total §] <2000 18X2 | 2000 xxx1
100 10
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R R
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100 100
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Let speed of boat in still water=x km/min
Speed of stream = y km/min
And distance = D km

ATQ,
(x—y)16 = 12x
x =4y
Let Required time be ‘T’ min
ATQ,
12x =T(x +y)

18y

9.6 minutes
Sy
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Students appeared in exactly two exams =150 — 20 =

Students appeared in CRE exam :% X 1000 = 400

Students appeared in only CRE & GMAT

= Students appeared in only CRE & CAT 50

Students appeared in only GMAT & CAT = 150 — (20 + 50 + 50) = 30
Students appeared in CRE = 280 + 50 + 50 + 20 = 400

Students appeared in CAT

=200 +50 + 30 + 20 = 300

Students appeared in only GMAT
=1000 — (50 + 280 + 50 + 20 + 30 + 200)
Employees using GMAT = 370 + 50 + 20 + 30

[400-(280+20)] _
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Students appeared in only GMAT & CAT
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Required percentage %x 100 = 185%
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Required ratio = 30: 20 = 3: 2
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70-300
300

Required percentage X 100 = 56.67%
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Students appeared in only one exam
70 + 280 + 200 = 850
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L 2y%+7y+
2% +4y+3y+6=0
2y(y+2)+3(y+2)=0
3
y=-27
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L x*+12x+35=0
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Lx?-7x-6x+42=
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